
THANK YOU
We appreciate the trust and confidence you have placed in Hampton Bay through the purchase of this wood burning 
fire pit. We strive to continually create quality products designed to enhance your home. Visit us online to see our full 

line of products available for your home improvement needs. Thank you for choosing Hampton Bay!

USE AND CARE GUIDE

29” WOOD BURNING FIRE PIT

Questions, problems, missing parts? Before returning to the store,  
call Hampton Bay Customer Service 
8 a.m. - 6 p.m., EST, Monday - Friday

1-855-HD-HAMPTON

HAMPTONBAY.COM 

Item #FPW-101143



 2

Table of Contents

Table of Contents ......................................2
Safety Information ....................................2

THD - TOC2
Warranty ...................................................2

What is covered .....................................2
What is not covered ...............................2

Pre-Installation .........................................3
Planning Installation ..............................3

Installation ................................................5
Care & Cleaning ........................................6
Service Parts .............................................7

Safety Information
1. For outdoor use only. Do not use the fire pit indoors. 

Carbon monoxide fumes, due to lack of ventilation, 
can cause death.

2. Do not use gasoline or kerosene to start fires in the 
fire pit. Keep all flammable liquids away from the 
fire pit.

3. This unit is designed to burn charcoal and 
untreated wood only. Fill the bottom of the bowl 
with sand until the surface of sand is 0.2 inches 
below the grid.

4. Do not use under or on combustible structures/
surfaces including wooden decks. Assemble the 
fire pit on a non-abrasive surface.

5. Use protective gloves and long-handled tools when 
fire pit is in use.

6. Fire pit remains very hot for a period of time after 
using. Be sure fire pit is cool before attempting to 
move it. Don’t touch the ash tray handle during use 
until the fire is completely out and cooled down.

7. The handles of the tools may become hot during 
and after use. The fire pit should be placed no 
closer than 24 in. from walls during use.

DANGER: Keep all flammable liquids away from the 
fire pit.

WARNING: Keep children away from hot fire pit.

CAUTION: Do not burn over 1.6 lbs. of charcoal or 3 lbs. 
of untreated wood at one time.

IMPORTANT: Do not use it  under or on a combustible 
structures/surfaces. 

Warranty

90 DAY WARRANTY

WHAT IS COVERED
This product is covered under a manufacturer’s 90-day warranty from date of purchase against defects in materials 
and workmanship. 

WHAT IS NOT COVERED
This warranty does not cover damage due to neglect, abuse or weather related damage. For full warranty 
disclosure, visit  www.hamptonbay.com.

Contact the Customer Service Team at 1-855-HD-HAMPTON or visit www.hamptonbay.com.



 3 HAMPTONBAY.com

  Please contact 1-855-HD-HAMPTON for further assistance.

Pre-Installation

PLANNING INSTALLATION
Before beginning assembly of product, make sure all parts are present. Compare parts with package contents list. 
If any part is missing or damaged, do not attempt to assemble the product or return to the place of purchase. 

NOTE: Contact our customer service toll free at 
1-855-HD-HAMPTON for replacement parts or further 
instructions.

HARDWARE INCLUDED

NOTE: Hardware not shown to actual size.

AA BB

Part Description Quantity

AA M6x15 Bolt 3

BB M6 Nut 4



 4

Pre-Installation (continued)

PACKAGE CONTENTS

G

F

E

D

C

B

A

AA

BB

BB

Part Description Quantity

A Poker Ring 1

B Spark Guard 1

C Cooking Grate 1

D Cooking Grate Support 4

E Fire Pit Body 1

F Fire Pit Base 1

G Poker 1



 5 HAMPTONBAY.com

  Please contact 1-855-HD-HAMPTON for further assistance.

Installation 

1 
 □ Connect the Poker Ring (A) to the Spark Guard 

(B) with M6 Nut (BB).

B

A

BB

2 
 □ Connect the Fire Pit Base (F) to the Fire Pit 

Body (E) with 3pcs of M6x15 Bolts (AA) and M6 
Nuts (BB).

 □ Place the Cooking Grate Support (D) into the 
Fire Pit Body (E). The short side of the Support 
shall be inserted into the body.

F

E

D AA

BB

3 
 □ Place the Cooking Grate (C) onto the Cooking 

Grate Support (D), then place the assembled 
Spark Guard (B) onto the Fire Pit Body (C).

D

C

B



 6

Care and Cleaning
Clean this outdoor fire pit on a regular basis to promote safer use and longer product life. After repeated use, the 
finish may discolor slightly.

 □ Do not attempt to clean, move or store this outdoor fire pit until the fire is completely out and cooled down. 

 □ Do not use oven cleaner or abrasive cleaners as they will damage this product. Do not clean any part of 
this outdoor fire pit in a self-cleaning oven as it may damage this finish.

 □ Once the fire is out, coals are cold and outdoor fire pit is cool to touch, remove ashes and properly dispose.

 □ Wipe exterior surfaces with a mild dish-washing detergent or baking soda.

 □ For stubborn stains use a citrus-based degreaser and a nylon scrubbing brush. Rinse clean with water.

 □ Remove built-up creosote from components with a chimney cleaning product.

 □ When not in use, store the fire pit fully assembled in a location away from children and pets.



 7 HAMPTONBAY.com

  Please contact 1-855-HD-HAMPTON for further assistance.

Service Parts

MODEL TYPE

G

F

E

D

C

B

A

AA

BB

Part Numbers Description Quantity Part Numbers Description Quantity

A: FPW-101142-PR-BLK Poker Ring 1 F: FPW-101143-FPB-BRZ Fire Pit Base 1

B: FPW-101142-SG-BLK Spark Guard 1 G: FPW-101142-PK-BLK Poker 1

C: FPW-101142-CG-BLK Cooking Grate 1 AA: FPW-101142-BOLT-BLK M6x15 Bolt 3

D: FPW-101142-CGS-BLK Cooking Grate 
Support

4 BB: FPW-101142-NUT-BLK M6 Nut 4

E: FPW-101143-FPB-BRZ Fire Pit Body 1



Questions, problems, missing parts? Before returning to the store,  
call Hampton Bay Customer Service 
8 a.m.-6 p.m., EST, Monday-Friday

1-855-HD-HAMPTON

HAMPTONBAY.COM

Retain this manual for future use.


